# Distribution of zeros and shared values of difference operators 

by Jilong Zhang (Beijing), Zongsheng Gao (Beijing) and Sheng Li (Zhanjiang)


#### Abstract

We investigate the distribution of zeros and shared values of the difference operator on meromorphic functions. In particular, we show that if $f$ is a transcendental meromorphic function of finite order with a small number of poles, $c$ is a non-zero complex constant such that $\Delta_{c}^{k} f \neq 0$ for $n \geq 2$, and $a$ is a small function with respect to $f$, then $f^{n} \Delta_{c}^{k} f$ equals $a(\neq 0, \infty)$ at infinitely many points. Uniqueness of difference polynomials with the same 1-points or fixed points is also proved.


1. Introduction and results. We apply the standard notation of value distribution theory: $m(r, f), N(r, f), T(r, f), N(r, f)$ and $S(r, f)$. Let $f(z)$ be meromorphic in the plane and let $c$ be a non-zero complex number. Define the differences of $f(z)$ by

$$
\begin{equation*}
\Delta_{c} f(z)=f(z+c)-f(z), \Delta_{c}^{k+1} f(z)=\Delta_{c}\left(\Delta_{c}^{k} f(z)\right), k=1,2, \ldots \tag{1.1}
\end{equation*}
$$

Value distribution of difference operators (1.1) on meromorphic functions has become a subject of great interest recently. Bergweiler and Langley [BL] investigated the distribution of zeros of $\Delta_{c}^{k} f(z)$. Halburd and Korhonen [HK1] established a difference analogue of Nevanlinna'a second main theorem. For other results in this field, the reader is referred to [Z] and [ZK]. An analogue of the logarithmic derivative lemma, developed by Chiang and Feng [CF] and Halburd and Korhonen [HK2] independently, reads as follows.

Theorem 1.1. Let $f$ be a meromorphic function of finite order and let $c$ be a non-zero complex constant. Then

$$
m\left(r, \frac{f(z+c)}{f(z)}\right)+m\left(r, \frac{f(z)}{f(z+c)}\right)=S(r, f),
$$

where $S(r, f)=o(T(r, f))$ as $r \rightarrow \infty$ outside of a possible exceptional set of finite logarithmic measure.

[^0]Noting that

$$
\Delta_{c}^{k} f(z)=\sum_{j=0}^{k} C_{k}^{j}(-1)^{k-j} f(z+j c)
$$

it is easy to get

$$
\begin{equation*}
m\left(r, \frac{\Delta_{c}^{k} f}{f}\right)=S(r, f) \tag{1.2}
\end{equation*}
$$

from Theorem 1.1 (see also [HK1, Lemma 2.3]).
Let $f$ be a transcendental meromorphic function and let $n$ be a positive integer. Hayman [H67] conjectured that $f^{n} f^{\prime}$ assumes every non-zero value $a \in \mathbb{C}$ infinitely often. For results concerning this conjecture, see [BE, H59, M]. Laine and Yang [LY] proved that if $f(z)$ is a transcendental entire function of finite order and $n \geq 2$, then $f(z)^{n} f(z+c)$ assumes every non-zero value $a \in \mathbb{C}$ infinitely often. Liu and Yang [LiY] considered the case of $f(z)^{n} \Delta_{c} f(z)$. They proved

ThEOREM 1.2. Let $f$ be a transcendental entire function of finite order and let $c$ be non-zero complex constant with $\Delta_{c} f(z) \not \equiv 0$. Then for $n \geq 2$ and any polynomial $p(z) \not \equiv 0, f(z)^{n} \Delta_{c} f(z)-p(z)$ has infinitely many zeros.

We intend to study the distribution of zeros of $f(z)^{n} \Delta_{c}^{k} f(z)-a(z)$, where $a(z)(\not \equiv 0, \infty)$ is a small function with respect to $f(z)$, i.e., $T(r, a)=S(r, f)$. The following theorem is an extension of Theorem 1.2 ,

THEOREM 1.3. Let $f(z)$ be a transcendental meromorphic function of finite order $\rho$, and let $n, k$ be positive integers. Suppose that $c$ is a non-zero complex number such that $\Delta_{c}^{k} f(z) \not \equiv 0$ and $a(z)(\not \equiv 0, \infty)$ is a small function with respect to $f(z)$. If $n \geq 2$ and the exponent of convergence of poles of $f$ satisfies

$$
\lambda(1 / f):=\limsup _{r \rightarrow \infty} \frac{\log N(r, f)}{\log r}<\rho
$$

then $f(z)^{n} \Delta_{c}^{k} f(z)-a(z)$ has infinitely many zeros, and

$$
\bar{N}\left(r, \frac{1}{f^{n} \Delta_{c}^{k} f-a}\right) \geq T(r, f)+S(r, f)
$$

The following two counterexamples from [iY] show that Theorem 1.3 is not true if $n=1$ or the restriction on the order of $f$ is removed.

Example 1.4. Let $f(z)=z+e^{z}, c=2 k \pi i$. Then

$$
f(z) \Delta_{c} f-c z=c e^{z} \neq 0, \quad \forall z \in \mathbb{C}
$$

Example 1.5. Let $f(z)=z e^{e^{z}}, e^{c}=-n$. Then $f$ is an entire function of infinite order and

$$
f(z)^{n} \Delta_{c} f-z^{n}(z+c)=-z^{n+1} e^{(n+1) e^{z}}
$$

has a finite number of zeros for any $n \in \mathbb{N}$.
We have the following result for meromorphic functions in general.
ThEOREM 1.6. Let $f(z)$ be a transcendental meromorphic function of finite order. Suppose that $n, k, c$ and $a(z)$ are as in Theorem 1.3. If $n \geq$ $3 k+5$, then $f(z)^{n} \Delta_{c}^{k} f(z)-a(z)$ has infinitely many zeros, and

$$
\bar{N}\left(r, \frac{1}{f^{n} \Delta_{c}^{k} f-a}\right) \geq T(r, f)+S(r, f)
$$

We now introduce the definition of sharing a common value: we say that functions $f$ and $g$ share a value a $C M$ (counting multiplicities) if $f-a$ and $g-a$ have the same zeros with the same multiplicities (see, e.g., H64, YY]). We say that $f$ and $g$ share $z$ CM if $f-z$ and $g-z$ share 0 CM. A finite value $z_{0}$ is called a fixed point of $f$ if $f\left(z_{0}\right)=z_{0}$. It is easy to see that a polynomial $P$ with degree $n \geq 2$ has $n$ fixed points (counting multiplicities). A transcendental function may not have fixed points: for example, $f(z)=$ $e^{z}+z$. Obviously, if $f$ and $g$ share $z \mathrm{CM}$, then $f$ and $g$ have the same fixed points with the same multiplicities.

Yang and Hua [YH] studied differential polynomials sharing a common value and obtained the following uniqueness theorem corresponding to Hayman's conjecture.

Theorem 1.7. Let $f$ and $g$ be nonconstant entire functions, and let $n \geq 6$ be an integer. If $f^{n} f^{\prime}$ and $g^{n} g^{\prime}$ share $1 C M$, then either $f(z)=c_{1} e^{c z}$ and $g(z)=c_{2} e^{-c z}$, where $c_{1}, c_{2}$ and $c$ are constants satisfying $\left(c_{1} c_{2}\right)^{n+1} c^{2}=$ -1 , or $f=t g$ for a constant $t$ such that $t^{n+1}=1$.

Fang and Qiu FQ obtained the following result concerning fixed points.
Theorem 1.8. Let $f$ and $g$ be nonconstant entire functions, and let $n \geq 6$ be a positive integer. If $f^{n} f^{\prime}$ and $g^{n} g^{\prime}$ share $z C M$, then either $f(z)=c_{1} e^{c z^{2}}$ and $g(z)=c_{2} e^{-c z^{2}}$, where $c_{1}, c_{2}$ and $c$ are constants satisfying $4\left(c_{1} c_{2}\right)^{n+1} c^{2}=-1$, or $f=t g$ for a constant $t$ such that $t^{n+1}=1$.

In the present paper, we get analogous results on difference operators.
TheOrem 1.9. Let $f$ and $g$ be nonconstant entire functions of finite order, and let $n \geq 5$ be an integer. Suppose that $c$ is a non-zero complex constant such that $\Delta_{c} f(z) \not \equiv 0$ and $\Delta_{c} g(z) \not \equiv 0$. If $f^{n} \Delta_{c} f$ and $g^{n} \Delta_{c} g$ share $1 C M$, and $g(z+c)$ and $g(z)$ share $0 C M$, then
(1) $f(z)=c_{1} e^{a z}$ and $g(z)=c_{2} e^{-a z}$, where $c_{1}, c_{2}$ and a are constants satisfying $\left(c_{1} c_{2}\right)^{n+1}\left(e^{a c}+e^{-a c}-2\right)=-1$; or
(2) $f=t g$, where $t$ is a constant satisfying $t^{n+1}=1$.

ThEOREM 1.10. Let $f$ and $g$ be nonconstant entire functions of finite order, and let $n \geq 5$ be an integer. Suppose that $c$ is a non-zero complex constant such that $\Delta_{c} f(z) \not \equiv 0$ and $\Delta_{c} g(z) \not \equiv 0$. If $f^{n} \Delta_{c} f$ and $g^{n} \Delta_{c} g$ share $z C M$, and $g(z+c)$ and $g(z)$ share $0 C M$, then $f=t g$, where $t$ is a constant satisfying $t^{n+1}=1$.
2. Some preliminary results. In this section, we give some results needed in this paper. Chiang and Feng [F] estimated the characteristic function and the counting function of $f(z+c)$, and got the following two results.

Lemma 2.1 ([CF, Theorem 2.1]). Let $f$ be a meromorphic function of finite order $\rho$ and let c be a non-zero complex constant. Then, for each $\varepsilon>0$,

$$
T(r, f(z+c))=T(r, f)+O\left(r^{\rho-1+\varepsilon}\right)+O(\log r)
$$

It is evident that $S(r, f(z+c))=S(r, f)$ from Lemma 2.1.
Recall that $\lambda(1 / f)$ denotes the exponent of convergence of poles of a meromorphic function $f$, defined in Theorem 1.3 .

Lemma 2.2 ([区F, Theorem 2.2]). Let $f$ be a meromorphic function with $\lambda(1 / f)$ finite and let $c$ be a non-zero complex constant. Then, for each $\varepsilon>0$,

$$
N(r, f(z+c))=N(r, f)+O\left(r^{\lambda(1 / f)-1+\varepsilon}\right)+O(\log r)
$$

The following result bases on Lemmas 2.1 and 2.2 .
LEMMA 2.3. Let $f(z)$ be a transcendental meromorphic function of finite order, and let $n$, $k$ be positive integers. Suppose that $c$ is a non-zero complex number such that $\Delta_{c}^{k} f(z) \not \equiv 0$ and $a(z)(\not \equiv 0, \infty)$ is a small function with respect to $f(z)$. Denote $F(z)=f(z)^{n} \Delta_{c}^{k} f(z)$. Then

$$
\begin{align*}
(n+1) T(r, f) \leq & \bar{N}(r, 1 / f)+N\left(r, \Delta_{c}^{k} f / f\right)  \tag{2.1}\\
& +\bar{N}(r, 1 /(F-a))-N(r, F) \\
& +N\left(r, f^{n+1}\right)+\bar{N}(r, F)+S(r, f)
\end{align*}
$$

Proof. We deduce from the second main theorem that

$$
\begin{align*}
(n+1) T(r, f)= & T\left(r, f^{n+1}\right)=m\left(r, f^{n+1}\right)+N\left(r, f^{n+1}\right)  \tag{2.2}\\
\leq & m\left(r, f^{n+1} / F\right)+m(r, F)+N\left(r, f^{n+1}\right) \\
= & m\left(r, f / \Delta_{c}^{k} f\right)+T(r, F)-N(r, F)+N\left(r, f^{n+1}\right) \\
\leq & m\left(r, f / \Delta_{c}^{k} f\right)+\bar{N}(r, 1 / F)+\bar{N}(r, 1 /(F-a)) \\
& +\bar{N}(r, F)-N(r, F)+N\left(r, f^{n+1}\right)
\end{align*}
$$

Noting that

$$
\bar{N}\left(r, \frac{1}{F}\right)=\bar{N}\left(r, \frac{f}{f^{n+1} \Delta_{c}^{k} f}\right) \leq \bar{N}\left(r, \frac{1}{f}\right)+\bar{N}\left(r, \frac{f}{\Delta_{c}^{k} f}\right)
$$

we see from $(1.2)$ that

$$
\begin{align*}
m\left(r, \frac{f}{\Delta_{c}^{k} f}\right)+\bar{N}\left(r, \frac{1}{F}\right) & \leq m\left(r, \frac{f}{\Delta_{c}^{k} f}\right)+\bar{N}\left(r, \frac{1}{f}\right)+N\left(r, \frac{f}{\Delta_{c}^{k} f}\right)  \tag{2.3}\\
& =T\left(r, \frac{f}{\Delta_{c}^{k} f}\right)+\bar{N}\left(r, \frac{1}{f}\right) \\
& =T\left(r, \frac{\Delta_{c}^{k} f}{f}\right)+\bar{N}\left(r, \frac{1}{f}\right)+O(1) \\
& =N\left(r, \frac{\Delta_{c}^{k} f}{f}\right)+\bar{N}\left(r, \frac{1}{f}\right)+S(r, f)
\end{align*}
$$

Applying (2.3) and (2.2), we obtain the assertion.
When nonconstant meromorphic functions $F, G$ share at least one finite value CM, the following lemma plays a key role.

Lemma 2.4 ([YH, Lemma 3]). Let $F$ and $G$ be nonconstant meromorphic functions. If $F$ and $G$ share $1 C M$, then one of the following three cases holds:
(1) $\max \{T(r, F), T(r, G)\} \leq N_{2}(r, 1 / F)+N_{2}(r, 1 / G)+N_{2}(r, F)+$ $N_{2}(r, G)+S(r, F)+S(r, G) ;$
(2) $F G=1$;
(3) $F=G$,
where $N_{2}(r, 1 / F)$ denotes the counting function of zeros of $F$ such that simple zeros are counted once and multiple zeros twice.

## 3. Proofs

Proof of Theorem 1.3. For each $\varepsilon>0$ we have $N(r, f)=O\left(r^{\lambda(1 / f)+\varepsilon}\right)$. Since $f$ is transcendental, it follows from Lemma 2.2 that

$$
\begin{equation*}
N(r, f(z+c))=N(r, f)+O\left(r^{\lambda(1 / f)-1+\varepsilon}\right)+O(\log r)=O\left(r^{\lambda(1 / f)+\varepsilon}\right) \tag{3.1}
\end{equation*}
$$

Thus $N\left(r, \Delta_{c}^{k} f\right)=O\left(r^{\lambda(1 / f)+\varepsilon}\right)$. Denote $F(z)=f(z)^{n} \Delta_{c}^{k} f(z)$. Lemma 2.3 gives

$$
\begin{align*}
(n+1) T(r, f) \leq & \bar{N}(r, 1 / f)+N\left(r, \Delta_{c}^{k} f / f\right)+\bar{N}(r, 1 /(F-a))  \tag{3.2}\\
& \quad-N(r, F)+N\left(r, f^{n+1}\right)+\bar{N}(r, F)+S(r, f) \\
\leq & 2 N(r, 1 / f)+N\left(r, \Delta_{c}^{k} f\right)+\bar{N}(r, 1 /(F-a)) \\
& +N\left(r, f^{n+1}\right)+S(r, f) \\
\leq & 2 T(r, f)+\bar{N}(r, 1 /(F-a))+O\left(r^{\lambda(1 / f)+\varepsilon}\right)+S(r, f)
\end{align*}
$$

Since $\lambda(1 / f)<\rho$, we can choose $\varepsilon$ small enough such that $\lambda(1 / f)+2 \varepsilon<\rho$. Hence $O\left(r^{\lambda(1 / f)+\varepsilon}\right)=S(r, f)$, and 3.2 yields

$$
(n-1) T(r, f) \leq \bar{N}(r, 1 /(F-a))+S(r, f)
$$

Proof of Theorem 1.6. Define $F(z)$ as before. Using (1.2), we have $N\left(r, f^{n+1}\right)-N(r, F)=N\left(r, F f / \Delta_{c}^{k} f\right)-N(r, F) \leq N\left(r, f / \Delta_{c}^{k} f\right)$ $\leq T\left(r, \Delta_{c}^{k} f / f\right)+O(1) \leq N\left(r, \Delta_{c}^{k} f / f\right)+S(r, f)$.
From this and 2.1), we deduce using Lemma 2.2 that

$$
\begin{aligned}
n T(r, f) \leq & N\left(r, \Delta_{c}^{k} f / f\right)+\bar{N}(r, 1 /(F-a))-N(r, F) \\
& +N\left(r, f^{n+1}\right)+\bar{N}(r, F)+S(r, f) \\
\leq & 2 N\left(r, \Delta_{c}^{k} f / f\right)+\bar{N}(r, F)+\bar{N}(r, 1 /(F-a))+S(r, f) \\
\leq & 3 N\left(r, \Delta_{c}^{k} f / f\right)+\bar{N}(r, f)+\bar{N}(r, 1 /(F-a))+S(r, f) \\
\leq & 3(N(r, 1 / f)+k N(r, f))+\bar{N}(r, f)+\bar{N}(r, 1 /(F-a))+S(r, f) \\
\leq & (3 k+4) T(r, f)+\bar{N}(r, 1 /(F-a))+S(r, f)
\end{aligned}
$$

which is

$$
(n-3 k-4) T(r, f) \leq \bar{N}(r, 1 /(F-a))+S(r, f)
$$

The assertion follows as $n \geq 3 k+5$.
Proof of Theorem 1.10. Denote

$$
\begin{equation*}
F(z)=\frac{f(z)^{n} \Delta_{c} f(z)}{z}, \quad G(z)=\frac{g(z)^{n} \Delta_{c} g(z)}{z} \tag{3.3}
\end{equation*}
$$

Then $F$ and $G$ share 1 CM . Since $f$ is a transcendental entire function, we deduce from the definition of $F$ that $N_{2}(r, F)=O(\log r)=S(r, f)$ and

$$
\begin{aligned}
N_{2}(r, 1 / F) & \leq N_{2}\left(r, 1 /\left(f^{n} \Delta_{c} f\right)\right) \leq N_{2}\left(r, 1 / f^{n+1}\right)+N_{2}\left(r, f / \Delta_{c} f\right) \\
& \leq 2 \bar{N}(r, 1 / f)+T\left(r, \Delta_{c} f / f\right)+O(1) \\
& \leq 2 \bar{N}(r, 1 / f)+N\left(r, \Delta_{c} f / f\right)+S(r, f) \\
& \leq 2 \bar{N}(r, 1 / f)+N(r, 1 / f)+S(r, f) \leq 3 T(r, f)+S(r, f)
\end{aligned}
$$

Thus

$$
\begin{equation*}
N_{2}(r, 1 / F)+N_{2}(r, F) \leq 3 T(r, f)+S(r, f) \tag{3.4}
\end{equation*}
$$

Similarly, we get $N_{2}(r, G)=S(r, g)$ and

$$
N_{2}(r, 1 / G) \leq 2 \bar{N}(r, 1 / g)+N\left(r, \Delta_{c} g / g\right)+S(r, g)
$$

Noting that $g(z+c)$ and $g(z)$ share 0 CM , we obtain $N\left(r, \Delta_{c} g / g\right)=0$ and the last inequality gives

$$
N_{2}(r, 1 / G) \leq 2 T(r, g)+S(r, g)
$$

Thus

$$
\begin{equation*}
N_{2}(r, 1 / G)+N_{2}(r, G) \leq 2 T(r, g)+S(r, g) \tag{3.5}
\end{equation*}
$$

Assume that case (1) of Lemma 2.4 holds. Using (3.4) and (3.5), we have

$$
\begin{equation*}
\max \{T(r, F), T(r, G)\} \leq 3 T(r, f)+2 T(r, g)+S(r, f)+S(r, g) \tag{3.6}
\end{equation*}
$$

On the other hand, it follows from Theorem 1.1 that

$$
\begin{aligned}
(n+1) T(r, f) & =T\left(r, f^{n+1}\right)=m\left(r, f^{n+1}\right) \leq m\left(r, f^{n+1} / F\right)+m(r, F) \\
& =m\left(r, z f / \Delta_{c} f\right)+T(r, F) \\
& \leq m\left(r, f / \Delta_{c} f\right)+T(r, F)+O(\log r) \\
& \leq N\left(r, \Delta_{c} f / f\right)+T(r, F)+S(r, f) \\
& \leq T(r, f)+T(r, F)+S(r, f)
\end{aligned}
$$

which means

$$
\begin{equation*}
T(r, F) \geq n T(r, f)+S(r, f) \tag{3.7}
\end{equation*}
$$

By the same reasoning, it follows from $N\left(r, \Delta_{c} g / g\right)=0$ that

$$
\begin{equation*}
T(r, G) \geq(n+1) T(r, g)+S(r, g) \tag{3.8}
\end{equation*}
$$

Combining (3.7), 3.8 with (3.6), we conclude that

$$
(n-3) T(r, f) \leq 2 T(r, g)+S(r, f)+S(r, g)
$$

and

$$
(n-1) T(r, g) \leq 3 T(r, f)+S(r, f)+S(r, g)
$$

The last two inequalities yield an immediate contradiction, as $n \geq 5$. Hence $F(z) \cdot G(z) \equiv 1$ or $F(z) \equiv G(z)$ by Lemma 2.4. We discuss the two cases separately.

CASE 1. Suppose that $F(z) \cdot G(z) \equiv 1$. Then

$$
\begin{equation*}
f^{n}(z)(f(z+c)-f(z)) g^{n}(z)(g(z+c)-g(z))=z^{2} \tag{3.9}
\end{equation*}
$$

Notice, that for $n \geq 5$, zero is a Picard exceptional value of both $f$ and $g$ from (3.9). Then $f(z)=e^{Q(z)}$ and $g(z)=e^{P(z)}$, where $Q(z)$ and $P(z)$ are polynomials. It follows from (3.9) that

$$
\left(e^{Q(z+c)-Q(z)}-1\right)\left(e^{P(z+c)-P(z)}-1\right)=z^{2} e^{-(n+1)[Q(z)+P(z)]}
$$

Denote $\phi(z)=e^{Q(z+c)-Q(z)}$. Then $\phi(z) \neq 0, \infty$ for any $z \in \mathbb{C}$. If $\phi(z) \not \equiv$ const, then it is a transcendental entire function. We infer from the above equation and the second main theorem that

$$
\begin{aligned}
T(r, \phi) & \leq \bar{N}(r, \phi)+\bar{N}(r, 1 / \phi)+\bar{N}(r, 1 /(\phi-1))+S(r, \phi) \\
& =\bar{N}\left(r, 1 / z^{2}\right)+S(r, \phi)=O(\log r)+S(r, \phi)=S(r, \phi)
\end{aligned}
$$

which is a contradiction. Therefore, $\phi(z) \equiv$ const. Similarly, $e^{P(z+c)-P(z)} \equiv$ const. It follows that $z^{2} e^{-(n+1)[Q(z)+P(z)]} \equiv$ const, which is impossible.

Case 2. Suppose that $F(z) \equiv G(z)$. Then

$$
f^{n}(z)(f(z+c)-f(z))=g^{n}(z)(g(z+c)-g(z))
$$

Let $h(z)=f(z) / g(z)$. We deduce that

$$
\begin{equation*}
\left(h^{n+1}(z)-1\right) g(z)=\left(h^{n}(z) h(z+c)-1\right) g(z+c) \tag{3.10}
\end{equation*}
$$

If $h(z+c) \equiv h(z)$, then $\left(h^{n+1}-1\right) \Delta_{c} g=0$ and $h(z)^{n+1} \equiv 1$. Thus $h(z)$ is a constant, say $t$, satisfying $t^{n+1}=1$.

Assume now that $h(z+c) \not \equiv h(z)$. Suppose that there exists a point $z_{0}$ such that $h\left(z_{0}\right)^{n+1}=1$. Then $h\left(z_{0}\right)^{n} h\left(z_{0}+c\right)=1$ from 3.10 since $g(z)$ and $g(z+c)$ share 0 CM. Hence $h\left(z_{0}\right)=h\left(z_{0}+c\right)$ and

$$
\bar{N}\left(r, 1 /\left(h^{n+1}-1\right)\right) \leq \bar{N}(r, 1 /(h(z+c)-h)) \leq 2 T(r, h)+S(r, h)
$$

by Lemma 2.1. In the above inequality, we apply the second main theorem to $h^{n+1}$, resulting in

$$
\begin{aligned}
T\left(r, h^{n+1}\right) & \leq \bar{N}\left(r, h^{n+1}\right)+\bar{N}\left(r, 1 / h^{n+1}\right)+\bar{N}\left(r, 1 /\left(h^{n+1}-1\right)\right)+S(r, h) \\
& \leq 4 T(r, h)+S(r, h)
\end{aligned}
$$

Then

$$
(n+1) T(r, h) \leq 4 T(r, h)+S(r, h)
$$

which means $h$ is a constant, because $n \geq 5$. Let $h=t$. Making use of 3.10) again, we obtain $t^{n+1}=1$.

Proof of Theorem 1.9. Denote

$$
F(z)=f(z)^{n} \Delta_{c} f(z), \quad G(z)=g(z)^{n} \Delta_{c} g(z)
$$

Then $F$ and $G$ share 1 CM . By the same arguments as in the proof of Theorem 1.10, we have $F(z) \cdot G(z) \equiv 1$ or $F(z) \equiv G(z)$ by Lemma 2.4. If $F(z) \equiv G(z)$, we obtain the second assertion by the same reasoning as in Case 2 in the proof of Theorem 1.10 .

It thus remains to consider the case $F(z) \cdot G(z) \equiv 1$. Then

$$
\begin{equation*}
f^{n}(z)(f(z+c)-f(z)) g^{n}(z)(g(z+c)-g(z))=1 \tag{3.11}
\end{equation*}
$$

Case 1 in the proof of Theorem 1.10 gives us $f(z)=e^{Q(z)}$ and $g(z)=$ $e^{P(z)}$, where $Q(z)$ and $P(z)$ are polynomials. We conclude from 3.11) that $e^{Q(z+c)-Q(z)}-1$ is never zero. Denote $H(z)=e^{Q(z+c)-Q(z)}$. Then $H(z) \neq$ $0,1, \infty$ for any $z \in \mathbb{C}$. By Picard's theorem, $H$ is a constant, so $\operatorname{deg} Q=1$. Similarly, $\operatorname{deg} P=1$. Assume now that

$$
f(z)=c_{1} e^{a z}, \quad g(z)=c_{2} e^{b z}
$$

where $a, b, c_{1}$ and $c_{2}$ are non-zero constants. Applying (3.11) again, we get $a=-b$ and $\left(c_{1} c_{2}\right)^{n+1}\left(e^{a c}+e^{-a c}-2\right)=-1$. The first assertion follows. This completes the proof of Theorem 1.9 .

Acknowledgements. The authors would like to thank the referee for valuable suggestions. This research was supported by the Fundamental Research Funds for Central Universities (grant no. 300414) and the NNSF of China (grants no. 10771011 and 10671169).

## References

[BE] W. Bergweiler and A. Eremenko, On the singularities of the inverse to a meromorphic function of finite order, Rev. Mat. Iberoamer. 11 (1995), 355-373.
[BL] W. Bergweiler and J. K. Langley, Zeros of differences of meromorphic functions, Math. Proc. Cambridge Philos. Soc. 142 (2007), 133-147.
[CF] Y. M. Chiang and S. J. Feng, On the Nevanlinna characteristic of $f(z+\eta)$ and difference equations in the complex plane, Ramanujan J. 16 (2008), 105-129.
[FQ] M. L. Fang and H. L. Qiu, Meromorphic functions that share fixed-points, J. Math. Anal. Appl. 268 (2000) 426-439.
[HK1] R. G. Halburd and R. J. Korhonen, Nevanlinna theory for the difference operator, Ann. Acad. Sci. Fenn. 31 (2006), 463-478.
[HK2] —, 一, Difference analogue of the Lemma on the Logarithmic Derivative with applications to difference equations, J. Math. Anal. Appl. 314 (2006), 477-487.
[H59] W. K. Hayman, Picard values of meromorphic functions and their derivatives, Ann. of Math. 70 (1959), 9-42.
[H64] -, Meromorphic Functions, Clarendon Press, Oxford, 1964.
[H67] -, Research Problems in Function Theory, Athlone Press, 1967.
[LY] I. Laine and C. C. Yang, Value distribution of difference polynomials, Proc. Japan Acad. Ser. A 83 (2007), 148-151.
[LiY] K. Liu and L. Z. Yang, Value distribution of the difference operator, Arch. Math. (Basel) 92 (2009), 270-278.
[M] E. Mues, Über ein Problem von Hayman, Math. Z. 164 (1979), 239-259.
[YH] C. C. Yang and X. H. Hua, Uniqueness and value-sharing of meromorphic functions, Ann. Acad. Sci. Fenn. Math. 22 (1997), 395-406.
[YY] C. C. Yang and H. X. Yi, Uniqueness Theory of Meromorphic Functions, Kluwer, Dordrecht, 2003.
[Z] J. L. Zhang, Value distribution and shared sets of differences of meromorphic functions, J. Math. Anal. Appl. 367 (2010), 401-408.
[ZK] J. L. Zhang and R. J. Korhonen, On the Nevanlinna characteristic of $f(q z)$ and its applications, ibid. 369 (2010), 537-544.

Jilong Zhang (corresponding author), Zongsheng Gao
Sheng Li
LMIB and School of Mathematics \& Systems Science College of Science
Beihang University
Beijing, 100191, P.R. China
E-mail: jilongzhang2007@gmail.com zshgao@buaa.edu.cn


[^0]:    2010 Mathematics Subject Classification: 39A05, 30D35.
    Key words and phrases: meromorphic function, difference, shared value.

